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1. Which of the following name combinations contains two
Gestalt psychologists ?
(a) Koffka, Wundt, Watson, Kohler
® Wertheimer, Watson, J?mes, Cohen
(c) Kohler, Cohen, Wundt, Kelman
(d) Watson, Kelman, Koffka, Wundt
7, The term “intra-individual differences’ means
(a) Differences among various traits in a given individual
(b) Differences in a given trait between two or more
individuals
(c) Differences in a given trait in a given individual
associated with the passage of time

(d) Differences in a given trait in a given individual
associated with errors of measurement

3. Ultimately, the effectiveness of a school programme as it
affects a child depends upon

(a) The effectiveness of checking and supervision
() Cooperation and participation of the community
(¢) Competence of the teacher

() Suitability of the curriculum

4. The two sciences which have largely dominated education
are :

(@) Psychology and Sociology

(b) Biology and Psychology

(c) Psychology and Anthropology
() Biology and Sociology

5. Which of the following s not a factor influencing group
organization ?

(@) Desire for security and recognition
(6) Common age and environment
(¢) Common moral standards
(@) None of the above
6. A common measure for assessing a group structure is
(@) Sociogram (b) Sociodrama
(c) Group-rating scale

(d) Observation of the group in a natural setting

1. %Ww—aﬁfcﬁ‘hﬁa‘zmémm
Hafefamrs s ffug as 7
(a) =T, T2, TCHE, AIBT
(b) TITEMT, [CHS , AHH TIS
© (c) ATBY, AT, T, ABNE
(d) TS, aBHG, TRAT, 2T
2. ‘intra-individual differences’ fa®u Fata=d ?
(a) faR foradt € S-Sy et fea faaar
(b) far fea g1 UY © AF U foraatn fTg fsaar
(c) far fea femaat € faw fea e feg -5 55
G3aux famar
(d) farit femiarst @ fai g e wrue-fedt amge @ads
ELT

3. wnile &, WS oy ShyEeysasTer el € e fan 3
fsega qgerd ?

(a) fadhie w3 Sfdar &t ygr=ysasr
(b) AfEfE &t Fraftert w3 wigdarsT
(c) mfmirug & Garar
(d) UasqHET ga= S
4. @ fefaris frad T @3 @B vae ' ot o
(a) H&fefams 3 e fefamrs
(b) 7= fefarrrs 3 wafefamrs
(c) Wafefarrts 3 wa=e fefamrs
(o) = fefarrs 3 i fefarns
5. 3 fafiont @S faod 3T IQPY RS § y@ies adtaed ?
(o) IR I wra T & fe'gr
(b)) TS HI MH-DP T
(c) Atgr fga u'me
(d) Quaaa fe@ d¥t &t
6. TPUTEITFAGE @ Y ¥
(a) RfiaGa™ (b) AfaGman
(c) ISy e FES
(d) Tegt TaIt fRU agu e fadhue
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7. Who did extensive research on gifted cl'lildren ? @ fRQR T ) W
‘ (a) Lewis Terman (b) Samuel A Kirk - (d) T
(c) Montessori & farm fRTPA™
8. John Dewey’s view of education emphasizes 3. 7 fegel fevd -
Knowledge as power (a) famis fea BT
(@ ge ) , o et
(b) Education as a preparation for life ®) Wﬁé"ﬁn fanrdt
(c) Knowledge for the sake of knowledge F oot famis
() Education es e Itiple o ftfinr ot fireal 3
) rding to Howard Gardner’s theory of multip ( -
’ ::ct:l‘:ige:ega, whi:h of the following stafemenm is true ? 9. mméw‘d‘lﬂg‘ﬂ? & firats MoAT IS 5t agy
(a) Intelligence is not a single entity fgg‘faaa'sia'a’ ?
(b) Intelligences are interdependent (@ gt feafadt Jeadt
(c) Different types of intelligence interact and work ® oty o3 3 fo99TTE
togother (c)gu.g*ugg;ww&'a'gniémmw
d) All of the above
10. SWhen was the National Policy on Persons with w3 feafamt W Faemit I&
Disabilities enacted in India ? @ mﬁm|
e A e 10, 333 feg wilar aTowt et gEeat S13t a& vt ?
o R (b) 1968
11. *Extinction’ occurs when (a) 1986
(@) A natural response of the organism is not reinforced ° (c) 2006 (d) 2000

(5) A conditioned stimulus is not accompanied by
reinforcement
(c) A stimulus is not associated with reward
{d) A conditioned response is not reinforced
12. The reinforcement schedule that yields lowest
performance is
(a) Fixed interval schedule
() Fixed ratio schedule
(c) Variable ratio schedule
(d) Variable interval schedule
13. The phenomenon of ‘Differential Inhibition’ is associated
with
(a) Spontaneous recovery
(b) Experimental extinction
(¢) Discrimination learning
(d) None of the above
14. ‘Survival needs’ motivate the organism to
(a) Avoid a painful experience
(b) To provide for physiological needs
(c) Gain higher status and recognition
(d) Seek pleasure
15. The one major purpose of administering an IQ test to
school going children is
(@) To help a child keep his level of aspiration in line
with reality
(b To' keep a record in case the child should need
guidance
(c) To help the teacher in making more realistic demands
upon the child

(d) To make the parents aware of their child’s limitations,

11. ‘Extinction’ IT TuFeld ?
(a) 7ite = geat g &9 yaus &7 3
(©) @375 575 fea-yrudt aT g 39
(d) »EFEE T T YESS 5T IS
12. YEss A3t it fa me 3 w'z z31 feurQrat 31
(o) fonfas fearnaat  (b) farfag misua At
(c) MAfaa MEUI AraSt (d) mwfas fog Rraat
13. ‘Differential Inhibition’ 3% fan % Az 3 ?
(o) FEfeE Yaa-yuht (b)) Yoo fagee
() TI=tFIET YT (d) Quiaafed adtsdt
14. RS 3foe ot ages yrat § Ufs aoety
(o) Bevet vige <t § Sfors a9 Bt
(b) Fefte Bt &t yot et
(c) AEH'S 3 W& IT B wet
(T yug es B
15. fexr Fg®s e w3 49 wv 1Q 2wz A= & faaam iy G947
yIrgerd ?
(0) §9 § mruet fe'sr e Y'ae Jalaa wEHT 3Ye 5
Heedrg g
(b) €9 S et a9 fOg faaew dye TR
(o) B9 3 Tfag Siret Ty et mifimym St Hee a0
et
(ﬂﬁﬂ&m@uﬁnﬂ%%ﬂm%‘z
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16.

(Me an IQ of 120. It can be concluded that

(a) The boys are equal in their mental age

3) Parents of both boys are of above-average
intelligence

(¢) Both boys would be successful in academic

performance

(d) None of the above is necessarily true

7. *Brain Storming’ technique is essentially used for
@ Developing general mental ability
® Encouraging convergent thinking
(c) Creating interest in activities
@ Stimulating creativity

18. Jean Piaget pointedly called his approach to child
development as
@ Evolutionary
(c) Genetic Epistemology (d) Biological

19. Which of the following adjectives best describes good

(b) Psychodynamic

discipline
(a) Consistent (b) Development
() Corrective (d) Preventive

10. An adolescent’s attempt to emancipate himself from
parental control and supervision

() is oriented towards obtaining complete personal
independence

(b) generally evolves from rebelliousness arising out of
poor parent-child relationship

(¢) is to attain freedom and enjoy his social relationships

() is generally symptomatic of the normal course of
growing up

21. The quote ‘child is father of the man’ reflects the
emphasis of which of the following ?

(@) Carl G Jung (b) Sigmund Freud

(c) Eysenck (d) GW. Allport
2. Who is the author of the book ‘Mind in Society’ ?
() Piaget (4) Kohlberg
(©). Vygotsky (d) Bandura
1. Who wrote the book *The Moral Judgement of the Child® ?
() Jean Piaget (b) Lawrence Kohlberg
() Erikson

o (@) Hoffnan
+ Inteligence s usually defined by using a............ definition
@) Subjective

(5) Operational
) Mathematical

(d) Physiological

17.

18.

19.

20.

¢4 1

22.

24.

Esafater1Q 120 ¥fer S A feraema@ It ?

() B3t & wrasfirar §va sareg J1

(b) T& Bafanrt & Wil MiRg ¥t 3 QU I5 |

(c) ¥ B mareia yoans (9 Rew &t

(d) QuIaa & <t ua 39 I Bt &t faar AT AAET|

‘Brain Storming’ I¥a1a agdt 39 I East Al Y :

(a) M W& T GaraT feafna o Bt

(b) A9 it Fre § yefeg aas oot

(c) TSttt feg gt sur@e st

(d) FeEIHTIT feu Qapasr =ues Bt

s i & ¥ @ feam it nryel fedt § mile 393

faord:

(a) feam=<t ) fefamrsa

(¢) M- farTs HIHAT

(@) Afex

gs?mmwwmw‘mm’smw

(a) f€ang (b) feamt

(c) FravEt (d) et

farila nru@ wry & Wit @ 3238 i3 fsaarst 3 gearar

ug= et &fan a9@ 75, fa@fa @u

(o) f&71 39’3 yat et YU S95 B AU J8 75

(b)gﬂ){?ﬁiwms*n@m%ﬁﬁwmm
TARTS

' (¢) fagfa §a mrarat yruz dasT w3 mru@ Anfaa fiat

TS BITIIE IS
(d) ™ 39’3 feg =4 &t gt € AAI 951

“Child is father of man’ 8% ’S 3= ffmt fe§ far I a9
fe'grd ?

(a) TS A G (b) vtz gorfes

(c) et (d) 7. 3EfEg mreilee
‘Mind in Society’ fagm erdyade d ?

(a) firmat (b) GBI

(c) Tfedemat () &g

. “The Moral Judgement of the Child’ fagm fand faut ?

(o) Ft& sy (b) B JTBHIIN
(c) Mfoaans (d) =&

w33 3 gt § ufssmT a3 wet fan famy et ufgemmr
TSRS ?

(a) HISHUT
(c) Afe3a

(b) aoHtE
(d) wata-feforraar



® [ncubation

(@ Veriﬁcation
s not stressed by

(@) Preparation

(c) Numination
27. Which of the following aspects W&

Gestalt Psychology ?

(a) The whole

(c) Field of operation
28. If Jean Piaget was grading an examination you attempted,

he would be most interested in

(a) Whether you have written your answers correctly

) Configuration

(d) Conscious experience -

(5) What your opinion about examination is
(c) How you derived your answers
(@) Whether you studied well before examination
29. In developmental terminology, Phénylketonuria (PKU)
refers to '
(a) Down’s syndrome
(&) A hereditary enzyme deficiency
(c) Microcephaly '
(@) Cretinism

30. The upper part of a baby develops earlier than the lower
part is termed as

(@) Proximodistal (b) Cephalocaudal
(c) General to specific (d) Corticodistal

At ST (YES & : 31 to 60)

|9tudlenlSoclal sclence (36) R

g015 (paper — 1 5° & faw geteatie fe'g ufast
Dec resdton §2 et ? "*f’fdn%

25.

; vy (b) fetas

() (dy oS
wmmmmmﬂﬁ‘éwa@xf@wf
starater :
(a) famirdt (b) fenfaQens
(o) femaa (fea@fidms) ;e
(d) SHEE |
3o fisfuntt fe farmr s @3 ez HBRERomIs oy |
atfegT fapwr ?
(@) S (b) U
(c) TIAHBITEE3T  (d) 935 IHIE" ‘:
28. mmm%mmwmwhﬂ,
&2 Je 3+ Q7 fan feg famrer get 3%ar ?

(@) dt It wnuE Ay @Ie Sta fsd 75

(b) FT3™ i a3 &t fewra &

(c) IS e fa? fEd

(d) it grT ifepr 3 ufowt Sait IgF uFreEr it
29. :arlﬂ'a)ﬁm»m?henyﬂcetonuria (PKU)ea"

(a) €5 fiman

(b) f€T hereditary enzyme ST wre

(c) HElaaR=s

(d) FFAETH .
30. 99 v Quawt far 3B iR 575 Awet feanz §ord 1R

fatafeas ?

(a) VaaFiHISHES (b) FARB-35

() feRR I AT T (d) FIANafeReE

26.

27.

|

3% fdt wrasw zast & ud w3 It
fef : (31-37) e bbbl

fri firestt &byt st mft 7, €7 79 %t
ﬂmmmwaummwmﬁm’;ﬂggi
:;z,ﬁﬁéz,urzém,ﬂz*m,%mﬁmméﬁwaz
Wx;w—m@émwmfwm&wmwl
it A il Ll e el L L

S3us

wanwmmwwmwafsmww

gatut fagsmt Rfgwmarg St alt g5, wve fed &0
nrgeet| IS, fir, Fed W, ER e‘l"yn‘t 3 fiprs 7
Bt gT T afYEt I 3 Qo il A awt adY 92 e @
SRHT 57 5 5T 39T fen a9d gayear @ gt He
fe's mer gaee afdet I 3 ey wi'et usdt o v
78 Qufemit after I 3 mra? adtnt v gy 3 w7
W‘*“W@mwmmééﬂ?mmﬂ
Q@,Hﬁ_ﬁ“m&wm;?wmwwﬂ,

foufontt f'g ¥t o &eY vz et afver | 757 50




%
fres-

(a)fagegéaéwa”eafal
(b)am@z,mgmmmwau

. g,ﬁagﬁwgwmaﬁua?%m&:
(a)fﬂ??nwm?ﬂ'?
(b) Firatt & 37
© Hies ot gatt
(d) FHEE-FN |

1. mﬂaf{amﬁmm&? i
(a)‘;ﬂﬁ?i'ﬁﬂ' (b) geewEt
©) Iy (o) feast feS det 5ot

34, ¥5 fe'3 met S faawr Hee Qag s ev oty ?
(a) THET (b) ST

(o)t (d) YIS

35. ‘fimease’ mee erfugsa fagard ?
(a) W& ®) T
)32 (d) 33

36, waut faafamt fe'g 0 &7 qet g adt Sfder A :
() WBY TeF II W FeeT I
(b)Wﬁm@Wf?“‘afﬁﬁﬁl
(c) &4 FHF oW I FHF afdeT 1
(d) feast &5 et 5t

31, By g Bt & wrag ot guret fam i 3 fsgsa awet

¥?
(a) WO Y B AU
() ey S 5ga3

(b) HE T famfamit &7 AT WS
(@) feoat fed a5t

¥5 fat anfe Zard @ mifois &9 & gt & A feQ

(YR& 38-45)

& &9 gt firg mirg,

MR O JIEea=t uret |
fsar 5g g T s M,
A3 aget 3T IBTET |

T 995+ 3 Aiw faemar,

W8 WE &7 5T yret|
A €9 vt 312 A,
A8t U &7 et aret

e i es s,

W3 & § ‘favat-wiger,
e rrerug §u M,
fex g s famr sret
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5 e U FE-IT BTE A B § B et §

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

it ava uet feg Het

3 gt gt fe'a o,
famet go aret mgaret,
g SIYU I e |
few afear fe'g faw dtv ot dearat Jet D 7
(@) YAIr3IHT (b) v
(c) e (@) et
feT afesr fan afe-fear s Aifaz 3 ?
(o) FEEY (b) B
(o) ¥grafear (d) Afse
‘it ona et feg e’ Falt gy ?
(o) fiETE®
(b) AT SHT T IpHTEST
(o) A feefiiader
(d) e f gaarg nret
‘Gt Fataed ?
(@) IWHT=T (b) M
(c) 3ud (d). A
feg afes fan g etagsrd ?
(o) TS TN T (b) §.y3s frur
(c) I A9 frwr (d) . HIHIZ U3T
feg afear feg Tt St far fe'sTyast § eamfenr fapnr Y ?
(a) B BIE (b) yg ey
(c) Ot firmy (d) UEIEd BY
feg afesT a<t & fan werar § Ug q@etd ?
(a) BUSHET (b) mrEeHEY
() et (d) fagar =&t

“fagrge giidaa MY, ferdorstern@E Y :

(a) AT mif ey I
(b) YHTIHT AI< HASH'S &

() YW uge 3 aa9 3

(d) YT YTH Y

T fe it feg e fee et @8 woe faost s & il
IS5 ?

(a) foet (b) ST

(c) SaHt (d) gt

I ot fravg yfafar evuer 3 :

()& (b) femsr

() T=-T< (d) QuIaI A
FfasT e gal-yeIaT g :
(a) st

(c) &t

(b) ITITA
(d) &3 3 ® I BN
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49, fenrarge St 35 el ufam e’ et 31 (a) fefermmadmit eaB! NSRSy
@fermesr syt @e S =0 ey B |
o :
eriEd @ ‘
© Wﬁﬂéwmmwﬁaﬂ%”“a . memm‘:amwm#. |
il Afedt (@ gufeE el i
(d,ggmmfaﬁwamwmw (b)mmwwe?#ﬁaal

50 “m;mawmhuﬂﬂ?ﬁaﬂwmi (o) P FE EEE AT
. &www@nfmmw#r—e‘aw&l (d) fegst feg aet 53T .
fe ufwar i wa Refama g et aret & 7 57, mmﬁ%mmmm; , '
(o) Y5t R (b) uB2 (a)gﬁgéw#fe@ﬁwm WS I gare; |
(©) PryEw (@) RafEs a&fr | o .

51, Wméwa‘n@tgﬁw%wmm (b)ga_%wm@ﬁﬁéwaﬂwwma j
(a) FBT 3 &R (b) SEA NI aST | (c)gﬁg_wﬁgewfeﬁfeamméw
(c) FBT 23 IB=A (d) IBTAMI &3 aw. o :

52. Sl us GasTR A E Y (d)wgwmawmfn’uza Quﬁsa‘rae‘raamz
(@QPHUSAFETS (b)) AV GFsT 3 sta Iyt 57% fA'Y AT RaEt J1
(c)Fenfqawa-ﬁwsré' 58, mrk'amétgiaramr&fzﬂuﬂwmarngum

GHET 3 frardereaterd ?
(@) efsaGmaT 3
53, Er fiye @ gfeasT € frgtg e maa faoa d 7 (o) FETET U -
(o) Fofeq e fo'g &5 & fiiyeT (b) fAr f&' AwTt 3918 5% JU9 T A |
(b) fiyE §nruzr g aET BT (c)fewwa—gn-r
(©) 89§ Feg gufeg g fmr@er (@) fer a& Fifag
(d) 387 § fA'ye <t garat gedt §<t 3 59. HYet ¥ & § e e fan fany er 3w T0a ravet 3¥ar !

54. 35 fod quwt feF fauarala ¥ ? (o) fem= am (b) SIH REE aH

(@) W& § I Fas fg 7 & 9 fiwet U 3 () fez-stmeean  (4) fsgaz-am

61.

62.

()Y FE I Y AET JUT T HS U § I8 @ fomt
T §ag famrs st Jeri |

(¢) forraaz 2 famrs 3 fast Ha 'y 97 § S a1 ity
AereT

(@) 7 FEr R g TET AT o 3 On § RS famt

T farrs @ Ferd

English Language (Q. No. 61 to 90)

(38) =

s / Soclal Science

60. 3H fiTemi fe'a dmst &t frgevet et fam ' gus 3
gftery ?

(a) TB=-folmar |

(b) dusT T frymret ufafonr J9va Igert 3 80T
faegs

(c) IEs-uFs EW (d) foua-g8y

The term ‘notional-functional’ approach can also be used
for

(@) Structural approach

(b) Situational approach

(¢) Structural:situational approach

(d) The communicative language-teaching approach
‘Preparatory reading’ may also be called

(¢) Formal reading (&) Incidental reading

(¢) Loud reading (d) Extensive reading

63. Which of the following methods of teaching ‘reading
lays emphasis on the individual unit of thought and
language :

(a) The lock and say method
(#) The phrase method

(¢) The sentence method

(d) The phonic method
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64. Which of the following statement is not correct
() Dictation can help in teaching spellings
(b) Transcription can be used for practicing writing
(c) Substitution tables may be used for teaching a new
construction of a sentence
() In a good composition ideas should be placed in a
logical sequence
65. Silent reading may be
(a) Preparatory in nature
() Revisionary in nature
(¢) Neither (@) nor (b)) (d) Both (a) and (b)
66. In a thesaurus, words and phrases of the language are
classified according to
(@) Their sound (b) Orthography
(¢) Similarity in meaning
(d) Etymology
67. If a student is asked to write as essay on ‘If I were a
king’, we are asking him to write a

(a) Descriptive essay (b) Reflective essay

(¢) Expository essay
68. Grouping the systems of language means

(d) Imaginative essay

(a) Grouping of sounds

(b) Grouping of words

(¢) Grouping of phrases and meanings

(d) Grouping of sounds, words, phrases and meanings

69. Which of the following statements is not correct

(a) Phoneme is the smallest unit of speech on the sound
side

(b)) Morpheme is the basic unit of speech on the
meaning side

(¢) Morpheme is the first basic unit in the expression
system of the language

(&) Morpheme is typically composed of one to several
phonemes

70. “That languages can be learnt’ is a
(a) Myth (b) Truth
(c) Hersey (d) Fiction
Please read the passage carefully and answer the
questions (71 - 78).
One of the main reasons of corruption in elections today
is the lure of power which haunts the politicians so much
that they feel no qualms of conscience in adopting any
underhand method to come out successful. The Watergate
scandal in the USA is an eloquent example to testify to
the fact how even the top level politicians can stoop to

71.

T2

73.

74.

75.

the lowest level in order to maintain themselves in power.

Who does not remember how Adolf Hitler rode

roughshod over all canons of electoral propriety to

capture power ? In India also, the record of the various

political parties is not clean. Corruption thrives in elections

as the psychology of the electorate is being played upon.

Voters are swayed by tall promises. They fall an easy

prey to the adulation of the politicians due to their

illiteracy. Besides, in the representative democracies and

particularly in big countries the constituencies are quite

extensive, obviating the possibility of corrupt practices

being discovered. Anti-corruption laws are honoured more

in their breach than in their observance. Even the code

of conduct becomes a dead letter in as much as it is

jettisoned out of existence and thrown unscrupulously

overboard by unfair politicians whose only aim is to

maintain themselves in the saddle.

The politicians indulge in corruption in elections

nowadays because of

(a) lure of money

(b) morlity being at a discount in every field of life today

(c) attraction of power

(d) corrupt practices in elections go unnoticed.

Adolf Hitler came to power :

(a) by liquidating any opposition

(b) as a result of bungling in elections

(c) by organising a mass movement

(d) by conquests

How does corruption thrive in elections ?

(a) the people themselves are corrupt

(b) there is a natural connection between elections and
corruption

(¢) the politicians exploit the electorate psychologically

(d) the politicians cheat the electorate economically

What happens to the anti-corruption laws ?

(a) anti-corruption laws are certainly honoured but in a
limited way.

(b) anti-corruption laws are simply an eye wash to
hoodwink the masses

(c) anti-corruption laws are honoured more in their
breach than in their observance

(d) the government does not enforce anti-corruption
laws.

What happens to the code of conduct ?

(@) it is observed in a limited way

(b) it is so prepared that it leaves loop holes for the
practice of corruption in elections

(¢) the machinery devised to enforce the code of
conduct is defective

(d) it is not observed at all
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6. “To maintain themselves in the saddl

71.

79.

e’ means :

(@) to remain in state of preparedness
(b) to play an unfair game
{c) to oust the opposition at every cost

(d) to retain power in their hands by continuing in office.

Pick out the most appropriate antonym of theword ‘lure’ :
(a) tempt (b) deter
(c) induce (d) coax

. Pick out the most appropriate synonym of the word
thrive’
(a) prosper (b) progress
(¢) promote () foster

Read the passage carefully and answer the questions
that follow :

Violence, genera]ly, is defined as unlawful behaviour
involving physical force intended to injure, damage, or
kill. Our society, however, evinces some such behavioural
patterns as are interred deeply in the social consciousness
and perpetrate, mentally and emotionally, lasting damage
upon the victims, but still are not recognized as criminal
acts. One example of such non-physical violence entails
the tactics of subtle manipulation of gender roles by our
male-dominated society. The socially formed traits of
masculinity and femininity set different standards of
appropriateness of behaviour for men and women. While
women are expected to be docile, decent and deferential,
aggressiveness and violence are considered to define
manhood. Thus, these standards describe an assertive
woman as an anomaly and normalize violence in men.
This socially sanctioned or structural violence turns the
otherwise natural and equal relation between the two
sexes into a power equation where man enjoys the
authority to subjugate woman. Through our 21st century
civil society talks much about women empowerment and
women rights, the structural violence against women
persists menacingly. This type of violence may not lead
to injury, disability, or death, but often causes various
kinds of psychological and social problems. Therefore,
to define violence in terms of injury or death alone,
amounts to overlook its subtler and deeper impact.
Which two types of violence does this passage refer to ?
(a) Physical and cultural-violence

(b) Emotional and verbal violence
(¢) Structural and physical violence
(d) Spiritual and structural violence

2015 (Paper 1)

80. The word ‘interred’ in the second sentence meang
(a) Buried () Placed
(d) Resided

81. The term scriminal act’ is used for the behaviourﬂm.“

82.

83.

84.

85.

86.

87.

88.

Soclal

studies / Social science (40) —_R

© Located

(a) against social norms

(b) against moral ethics

(¢) in opposition to cultural taboos

(d) against the laws of the land

The expression ‘docile, decent and deferential’ conty,

an example of the literary device

(a) Simile (b) Paradox

(c) Alliteration (d) Metaphor

By ‘manipulation of gender roles by male-dominaiy

society’ the writer means

(a) Prescribing different ways of behaviour for the ty,
sexes so as to maintain male authority

(b) Exploiting different gender roles for the benefit
the society

(¢) That rules of behaviour are decided by males of ti
society

(d) The two sexes are free to act according to the
wishes

According to the passage, the 21* century civil socity

(a) is free from structural violence against women

(b) is fighting with violence ‘

(c) carries delete the socially sanctioned violent
against women

(d) promises to provide an abuse-free environment
women

The word ‘anomaly® most nearly means

(a) Difference (6) Abnormality

(¢) Bad (d) Insane

Which of the following systems of language refers
the system of meanings

(a) Phonology (b) Syntax

(¢) Morphology (d) Semantics

The changes in any language reflect

(@) Individual variability

(6) Massive and uniform alteration

(¢) Uniform and gradual alteration

(d) Massive, uniform and gradual alteration
‘Register’ as a variety of language used by 2 SP“iﬁ‘
group of people refers to

(a) Lexical differences

(b) Lexical differences and grammatical features
(¢) Grammatical and phonological features

(d) Besides lexical differences, grammatical o

phonological features as well
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89. Which is the traditional classical method of teaching
English
(a) The Direct method
(b) The Bilingual method
(¢) The Text book method
(d) The Translation method

90. Which of the following statements is not true in case of
the Direct method

(@) Grammar precedes language learning
(b) Grammar is taught inductively

(c) Words and phrases are taught at definite stages

through spoken language

(@) Articulation with correct pronunciation and

intonation is important

Section—B Social Studies / Social Science (Bilingual Section, Q. No. 91 to 150)

W—Bmm/mm(m,m%:m-wm

91. Which of the following are wrongly matched?
() Brightest Planet — Mercury
(i) Farthest planet — Pluto
(iii) Red Planet — Mars
(iv) Largest Planet — Venus

(@) (i) and (iii) (b) (iii) and (iv)
() (i)and (iv) (d) (i) and (iii)

92. 49" Parallel is the boundary line between which two
nations?

(a) India and Bhutan  (b) Pakistan and China
(c) Africaand India () USA and Canada .
93. Match the following :

1 |

(@) Fathometer () An instrument used for
measuring wind velocity

(b) Chronometer (i) An instrument used for’
measuring the depth of the
ocean.

(¢) Anemometer Gii) An instrument used for
measuring humidity in the
atmosphere.

(d) Hydrometer (iv) An accurate time-keeping
instrument.

. a b c d
a @ G G
() ﬁ_D vy @ (i)
(© ) @ @ G
o @ i) () (iv) (i)
+ The first train between Mumbai and Thane was started

in
(@ 1867 (b) 1845
- (c) 1853 (d; 1840
- Which of the following is the coldest layer of the
atmosphere?
(@) Troposphere (b) Stratosphere

() Thermosphere (d) Mesosphere

91.

92.

93.

94.

95.

¥z fafipnt fed faad B3 AT I57
() w9 T foprrer Svaed Jfo-4a
(i) AF T famrer gat T8 Jfa-uge
(ili) BT TS |

(iv) g 3 <37 gfo-Haq

(a) (i) M3 (iii) (&) (iii) M3 (iv)

(©) ()"3(iv) (d) (i)™ (iii)
49T ANSITAIHT YT ..ooeeerrennnn fegaa i

¥z fofmit § firer@?

(a) SBited () I=T Ot TEIT § HuE TTT
w33

(b) IR (i) HoARE & FuwE § HuE
TH UIT

(c) Mated (i) THEY feest o § wus
THE UG

(d) TEded - (iv) FOT RN RS 8T WY
a b c d

(@ (v @) G @

G @ G O (i)

@ v @ O G

@ @@ O (iv) (D)

D LR Ll g SR & §¥mh
(a) 1867 (b) 1845

(c) 1853 (d) 1840

e ot faust w3 /e 3 e §31 37

(a) WIS (b) AU VTS

(c) TUNTH (b) HUWES
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96. The first
formulated in .
(a) 1984 () 1987
(©) 1983 (@ 1982

97. The earth moves on its axis from
(a) West to East (b) East to West X
(¢) North to South (d) South to Nort

98. The monsoon has a well-developed cycle in
(b) East Australia

(a) North Africa
(¢) South & South East Asia
(d) Eastern Europe
99. A narrow strip of land which connects two land masses
is known as
(a) Island (b) Strait
(c) Isthmus (d) Gulf

100. Tropical rain forests in India are found in
(a) Madhya Pradesh
() Himachal Pradesh
(¢) Andaman & Nicobar Islands
(@) Rajasthan
101. The Chinese Buddhist pilgrim Hiuen Tsang visited India
in the reign of
(@) Ashok (b) Akbar
(c¢) Rajendra-I (d) Harshavardhan
102. When did Swami Vivekananda found the Ramakrishan
Mission?
(@) 1897 (b) 1896
(c) 1876 (d) 1887
103. Kautilya was the of Chandragupta Maurya.
(a) Prime Minister (b) Finance Minister

(c) Advisor (@) Chief Minister
104. Match the following :
I | |
(a) Shaikh Abdul Fazal () Humayun Nama
(b) Babur (i) Tarikh-i-Rashidi
(c) Khwand Amir (iii) Akbar Nama

(d) Mirza Muhammad Haidar (iv) Tuzuk-i-Baburi
a b c d
(@ G @) @ (iv)
G @ M ™ O
© Gii) Gv) @ @)
@0 @ G G
105. Which of the following is the best description of ‘Iqta’?
(@) A grant of revenue from a territory in lieu of salary.
(b) A part of the land.
(c) A grant of revenue from all the farmers,
(d) A post given to a minister of finance.

per-1) Social Studies /

96.

97.

98.

99.

100.

101.

102,

103.

104.

105.

—
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ufaar AEEE TEETETEE /e At HEEs uy

................. e & afenr|

(a) 1984 (b) 1987

(c) 1983 (d) 1982
qeatwru@ g3 g et 3

(a) TeH 3 yow (b) yau T UeH
(c) v T ST (d) S I EIT
WaEE o feafig g fda 31

(a) @I =t (b) yIH WREHEHT
(c) Syt 3 SuST yadt Enbar

() Yot Gau

gast & & Rifrnt § nrurit Qe o8 dor itat et § ot
fargr ater 7

(@) Tg (b)) AEVE
(c) UB-AF R
FJUIFGE TS 393 (& fR ye Atd o ?
(o) HOYew (b)) fresyen
(c) "BHS fadara Eu AyT
(d) TARES
dist ¥t ot foQanfar ................ THHs I o gas
nfenr|
(a) BT (b) ned
(c) FfFEa-1 (d) TS
et feRarde 3 avfquEs s ot reusrad aist?
(@) 1897 (b) 1896
(c) 1876 (d) 1887
defemr Jesgua Hatwrer ... o 1]
(a) yor& WIS (b) f&=r3et
(c) AmIaT (CRLRECT
35 faft & 6
A B
(@) FWEEESTS . () prgan
(b) T&g () IdF-T-gen
(c) ¥=Ewnitg (iii) nHorET I

@) PewrydEdes  (v) gea-t-wwd
a b c d
@@ @ O
® @ @ @ @
(© Gi) (v) @ @)
@O @ ™ G
35 fosfiont e faraar “fearg & ot ufwfins e 37
(b) a1 e fmm)
(o) fammst S B2 AR aw S g
(a)f"%’?m&ﬁgrmw"@?l
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(@) 1490 (b) 149 _ 106, THE-FIHT................ g aiae fed ugfanr)
(c) 1498 (d) 1497 (a) 1490 (b) 1496
107, Who said : “Whether we like it or not, we have n o (c) 1498 (d) 1497
pecome an Indian nation, united and indivisible”? 107. “wt ufe a At &7, g ot Agag s9st aEeT M3
(@ Maulana Abul Kalam Azad wEEF ot feg Hew fama a7
(b) Lala Lajpat Ral (a) WSS mges s e
(¢) Jawaharlal Nehru (d) Bal Gangadhar Tilak (b) SE BT T
In the Vedic period which of the thre d
108 i:.pomnt? AN TR (c) 7="T9 575 5fag
() Rudra, Vishnu and Indra (d) T8 Jioras f3sar
(b) Agni, Indra and Soma 108. ¥fca aw g faad 3= de3 wigeyas 7o ?
(c) Indra, Varun and Rudra (a) 9, f?ﬂﬁ,ﬁaa (b) T, fir, ot
(@) Agni, Indra and Vishnu o) e, <35, 359 (d e, fe, ey

109. The Harappan Civilization belongs to which of the 109. Jatr ifanraT I fofunt fed fan s aw Riga 37
following Age? f

(a) Bronze Age (b) Neolithic Age (@FHTE (b) s=-tma g
(©) PalacolithicAge  (d) Iron Age (c) g a® (d) Boras
110. Who among the following Mughal Emperors wrote his ~ 110. I fwft fE3 fa7 Yo BRa 3 Zrant e e fendt?
biography in Persian? (a) TET (b) mietEd
b) Akb X
8 ?a::a;gir Ed; Auraa:lgzeb © 3 E?m)r(:?aﬂ' st aret?
111. The boundary between India and Pakistan was . o0 i )
demarcated by (a) BT WS (b) BIF TR
(a) Lord Mountbatten (b) Lord Lawrence (c) ARSI afdur  (d) Fa fifes dzafss
(€) Sir Stafford Cripps () Sir Cyril Red CHT 112. 35 fsfont e 7w 3 ufiwst fand T Mvafirw s afteh?
112. Which one of the foliowing was the first to impose
censorship of the press? (a) SRS (b) 7y HSHH
(a) Wallesely (b) John Adams (c) Infea™ (d) &93 FHIHT
(c) Hastings (d) Lord Dalhousie 113. wwwmmwmm?
113. The first metal used by man was
(@) Silver (b) Copper (@9 Gy
(c) Bronze (d) Brass (c) TH" CRED
114. Who among the following is considered to the first ruler 144 ¥ fesfimit fed fagar s er ufosT BRI nraerd?
fIndi
gt (a) SIS dPAT (b) MAX
(@) Chandragupta Maurya
(5) Ashoka (c) afera
(€) Kanishka (d) Seaa3 feaawfefanr
s A2\ Cuandisgugty Vikratiitiys 115. PevEaW faRer g ?
» Megasthenes was the ambassador of ) :
(@) Alexander (b) The Greeks (a) BT ) g
() Darius (d) Seleucus (c) 3T (d) ASGam
116. During the time of which Mughal Emperor did the ¢ fog yames avr @ I @ AR ot €iwe Rt dust &
English East India Compay establish its first factory in g3 &g nruet Rareat But it?
India?
@) Akbar — (a) W (b) varaha
angir



PSTET Previous Paper Dec.

117.
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119.

120.

121,

122.

123.

124.

125.

126.

In Quit India resolution (1942), who gave the mantra
‘Do or Die’,?

(@) Mahatma Gandhi  (b) Subhash Chandra Bose

(c) Jawaharlal Nehru  (d) Sardar Vallabh Bhai Patel .
A book entitled ‘The Hindus : An Alternative History’is
wriften by :

(a) Shobha De (b) B.R. Ambedkar

(c) Wendy Doniger  (d) Salman Rushdie

The study of inscriptions is called:

{a) Epigraphy (b) Numismatics

(c) Atchaeology (d) Philosophy

Two important port cities of the Mughal period were
(@) Madurai & Varanasi

(b) Mangalore & Ahmedabad

(¢) Ahmedabad & Sonargaon

(d) Sonargaon & Calicut

Choose the correct from the below :

The dimensions of chronology in Social Science are

(1) Duration (i)) Distance
(i) Location (iv) Relation of time
(a) (i) & (iii) (b) (i) & (i)
(c) (iii) & (iv) (d) All of the above

For the effective use of the story-telling method in Social

Science, which of the the following statement is

incorrect?

(a) The teacher should tell the story in an orderly
manner.

(b) The teacther should use catchy words and phrases.

(c) The teacher should add his/her own imagination.

{d) The narration should suit the level of the audience.

Telling about some object or phenomenon in such a way
that a mental picture is prepared inthe minds of the
learners is termed as____ .

(a) Lecture (b) Description

(c) Explanation (d) Narration

Which of the following teaching aids will be most
effective for depicting various developments in the reigns
of different emperors?

(a) Time chart (b) Time Line

(c) Bar graph (d) Line graph

For teaching gifted Social Science students in isolation
from othes is termed as

(a) Acceleration (b) Segregation

(c) Enrichment (d) None of the above

The best way to teach the topic ‘Functions of Parliament’
is through

(¢) Lecture method (b) Project method

(¢) Conducting debates for arriving at a consnesus

(d) Story-telling

2015 (Paper - II) Social Studies/ So

117. mﬁm(wn)m‘aﬁ#ﬂ’wﬁa—m%
f3?
gg™H ¥<d 87
(a) HaTIWT AT (b)
() Aee FB G  (d) AaTTd $59 TETUSH

118.

119.

120.

121.

122.

123.

124,

125.

126.
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‘The Hindus : An Alternative History’ fargme fam 3 fmg

Jet 37 .
() B3 (b) ®. 7T HETAT

() ¥t FaNE (d) FEHTS THET

famdy & mfmis & st afde a5 ?

(a) PitTTEET (b) s@AAHfETH

(c) mraatr &t (a) femmet
mmdﬁémmm%m#ﬁ?
(a)HegEt I=TISH (D) FaT8e 3 mfoHeae

() mfoeraTe 3 AE9are

(d) Fisraarg IaBae

I fefii feT At St 8 a3 :

A fefaris (&9 aBaH & HUET .............. &

@ fmre (i) gt

(i) Afa3t (iv) AN € AEq

(@) (i) ™3 (iii) (b) (i)™ (ii)
© (i) ™3 (iv) () Que fe3 g
mifAd fefomims &9 qavet ger@e feut § gussryaea
TIIT U, 5 fefipyt feT faoaraes o 3
(o) iU § Tt Jataera I 578 Frget ot
dJl
(b) MU & »rona Hew W3 Hov=d =93S 9Tdie 36|
(c);fmmismﬂmwefmmmm
|
(d) TTE& Af T & g er Jer grater 3
“faR fsmma At UasT it 7 femies argeT for frfemnaat @
W5 QuT Wt 9T Qe & ............ afde a& |
(@) gHE (b) fagaig
(c) fenrfipyr (d) s
?mwgagzmammaam
3 feam % wanQe set T
Y 3? i ™

(@) it (5) T

(c) gaare (d) Iurare

R fefmine & yfagmmsit fefeomradiwt & ghiont 3wl
Uﬁ‘@!é‘ ............ afde ax| -
(a)’ﬁaﬁ?ﬁm (b) farfadms

(c) Hiestagite () Qusaa feT aet 5t

‘e @ a0 fewr U@ BYt AT 3 dar 3t Y

(a) Berga feah (b) Y fedt

() Te-fezefedt (q) Foretfedt
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133.
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137.

Which one of the following is not a component of

‘academic learning time’

(a) Content overlap  (b) Success

(c) Engaged time (d) None of these

Which type of questions will not develop critical thinking

among students ?

(a) Closed-ended questions

(b) Probing questions

(¢) Divergent questions

(d) Open-ended questions

The major objective of teaching social studies should

aim at

(a) Making students aware of happenings in the world
around :

(b) Raising awareness through critical exploration of
social surroundings

(¢) Inculcating nationalism in students

(d) Imparting knowledge about developed countries

Proceeding from concrete to abstract means :

(a) Fact to generalization

(b) Fact to theory

(¢) Reality to imagination

(d) None of the above

The largest tunnel (Jawahar Tunnel) in India is located

in

(@) Himachal Pradesh (b) Rajasthan

(c) West Bengal @ J&K

Which one of the following is not a Rabi crop?
(a) Wheat (b) Mustard
(c) Paddy (d) Gram

Which of the following is not a natural environment ?

(a) Mangrove (b) Desert

(c) Terrarium (d) Coral reefs

Which one of the following coasts of India is most

affected by violent tropical cyclones?

(@) Andhra (b) Konkan

() Malabar (@) Gujarat

The planet Jupiter takes about years to

complete one revolution in its orbit around the Sun

(a) 248 years (b) 84 years

(c) 11.86 years (d) 16.5 years

How many Committees were appointed to make the

Constitution of India?

(@ B b 2

© @ 27

Which of the following power/powers, is/are exclusive

vested in the Rajya Sabha?

(9) To initiate impeachment proceedings against the
President,

(b) To recommend the creation of new All India Services

(c) To remove the Vice-President

(d) All the above powers

PSTET Previous Paper Dec. 2015 (Paper - I) Social Studies / Social Science (45)

127.

128.

129.

130.

131,

132.

133.

134.

135.

136.

137I

fexgt fed fagar ‘warefia fitve mi’ o Rinr a<t 7

(a) femrgger (b) ARBIT

(c) forAg n=at (d) Qudaa feg qet &aT

Iz fefiont feT fagat famn & yas fefemmaent (9

WBIEING A9 e feaA aaf dae 7

(o) forfez Gaar a3 yns

(b) WTFIBYEE

() fedeydt yas (d) Y& YRS

RHfAa fitfiprr @ felr ev Qow

(a) fefenmadtut § mrd-gm8 ¥ A9 et wes=t §7d
¢ agerger

(b) fefenraant feg mrfra Sfaee & wBIsIHa
G CEEARVEAR C L

(c) THed =5 T fea

(d) feafng ent St Areardt e

AYS 3 guH 38 ArE e at mag 37

(o) THSfeE3a™ I AUTSIAIS <8

(b) Tw3feaa I fuig ez Aer

(c) A9TEt I aBUfsagr T/ AET

(d) Qudaa fes aet adTi

33 Ot 77 T ¥ ‘ATrad gaar faar Afag 37

(a) fras yenr (b) IARES

(c) Tt farss (@ Ff Imite

fegst (&§ fagat ogt ot ens &4t 37

(a) T (b) 7§

() 8 @ &8

fegst fed faoar geast e gweas 5T 37

(a) W&dIIT (b) vgRES

(c) T (d) TIBIRA

(a)Maar 3 (b) qas

(c) H'&™Ha'gd (d) I3
Wa@mw&wﬁamwmmﬁw
it 8'erd?

(a) 248 WS (b) 84S

(¢) 11 .86 "% (d) 16578

st ifears o fsane a3& e faaht avdht fsgaz
STt arewt?

(@)23 6 22

(c) 25 @ 27

I fafimit fed faget feiy mast/mastt s mar 4w Y/
|

(o) THCIUS € fumre Hatew & araeret it ufaw aaaT)
(b) 3t IHedt ATt ¥t fAgaw qaaT)

(c) Qu-ImeuA § geger

(d) QT fEItott srdtogt ot
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138. Under the provisions of the Indian

139.

140.

141.

142.

143,

144,

145,
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Constitution, the final
or not, rests with

PSTET

decision, whether 2 bill is a money bill
the
(a) President

() Speaker of the Lok Sabha

(¢) Prime Minister

(d) Rajya Sabha

The Fundamental Duties of In
incorporated in the Constitution in .
(a) 40* amendment, 1952

(b) 52* amendment, 1979

(c) 42*amendment, 1967

(d) 45*amendment, 1981

dian citizens were

Match the following : .
i |
(a) RulesofLaw (i) Canada
(b) Preamble (i) UK
(c) Federal System with (i) Ireland
a strong centre
(d) Directive principles  (iv) USA
of state policy
a b c d
@ @ M O G
@ @ @ @ O
@ m 60 @ @
@ 0 @M @
Who appoints the members of the UPSC in India?

(a) The Chairman of the UPSC

(b) The President

(¢) The Union Home Minister

(d) None of the above

Which of the following is not the function of the Election
Commission? :
(@) The delimitation of constituencies

(b) The recognition of various political parties

(c) The election of the President

(@) Keeping voters lists up-to date all the times
Judiciary plays an important role because it is

(@) Dependent

(6) Independent .

(¢) Independent of executive and legislature

(d) None of the above

The first hour of every sitting of the Lok Sabha is called
(@) Privilege hour (b) Zero hour

(¢) Question hour (d) Public hour

Which one of these is not a Constitutional organ?
(@) Election Commission

(b) Finance Commission

(c) Inter-State Council

(d) Planning Commission

(48) ——

()] Soc!I‘aaI;tudlu ] Soclal Sclonc'eaﬁ ilrarm— ~
3 ot BT .cocvecaenes 37
() TR () Ba AET T AdiE
(c) yurs Wt (d) TAAET e
139. gt aaifaat & o8 gadet § feTs 1KY ..., §
g &tar fadT|
(a) 40< AT, 1952 (b) 523 AT, 1979
(c) 42< AT, 1967 (d) 45T AU, 1981
140. 3= fosfent & s
A B
(a) TGB T HAS () BT
(b) YR3T=A" (i) gA.
(iii) #rfeadw

141.

142,

143.

144,

145.

() WS AT 8 FH
fuit yia |

(d) I <t 3t € faaend (iv) gMAE.
frata

d
@ (i)
i) @

a b
(@ G @)
(b) (i) (i)
@ G @ @@ (D)

@ @ G G) @

F33 f&9 ot AR 5t & et ot fagast d= agerd?
(a) G AR AT, B IS

(b) THEIUST

(c) d'edt gpfa Wt

(d) feaat feg aet A &4t

35 fofunt fed faaar & 8« afims sdT ager?
(o) TSfemit T JeiE qasT

(b) TTSIHIT E6t § HaIraaT)

(c) THSIUST Bt IS AT

(d) Jeat St gEort § AY-AN' I afemr@eT
[entufsar wiseyss ghimar rer aget 3, fa@fa feo
(a) faaaad

(b) mmafagga T

(c) araruTear 3 feaautear 3 fsgga aa1d
(d) TET BT

8 3T &t a9 Yaa & ufad iR & ot faar Ater 37
(o)feimufogeas () SAvas

() yIs I (d) vefesa a®
fest fed faar ifears e T 53T ?
@F=ahms () Raaims

(c) W39 I udtme (d) GaTafEs

C
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146. Which state in India has no Panchayati Raj institution?

. 3?7
(@ Nagaland () Tripura 146. 393 ¥ faod v ¥ Uerfes aw feemar 53t
(©) Kerala (d) Assam (o) 58T (b) fquer
147, To review the Centre — State relations, the Union (c) a3% (d) MAH
government appointed Sarkaria Commission in 147, o9 w3 g & nrusit At &t Mt 595 B, Fedt
W () 195 15 o . OO #. e raardtnr afies fegas siaT |
(c) 1985 (d) 1987 (a) 1983 (b) 1984
148. Which Amendment Act is referred as mini Constitution (c) 1985 (d) 1987
of India? “
(@ 7* Constitutional Amendment Act, 1956 148. mﬂ'mmﬁm@wm#ﬂaﬂmﬁ?
(b) 42* Constitutional Amendment Act, 1976 (a) 7th ifersa guea Mae, 1956
(c) 24* Constitutional Amendment Act, 1971 (b) 42nd fifeTaa FUrda Nae, 1976
(&) 44* Constitutional Amendment Act, 1978 A
149. Who will discharge the function of the President for () 24th - PHEZ, 191
any reason when both the offices of the President and (d) 44th fifSUsa garaa Aae, 1978
the Vice President fall vacant? 149, 759 faR 395 THZIUT 3 Qu-THEIUS & ERTT HEI T
gg PC;""‘;;I;‘:‘“C . Az gtaeaust e i de femer 37
ie on Commissioner N . .
(©) Speaker of the Lok Sabha (@) yus et (b) By I afmss
(d) Chief Justice of India () BFRITerAflEd  (d) FEI TTHY AN
150. Which one of the following languages is not specifiedin 50, fyg=t 5T 3a3t fifeus & 8& vigae &9 &of eanret arel?
Schedule 8 of the Indian Constitution ? . -
(a) Sanskrit (b) Nepali (o) fmfeg (b) B
(¢) English (d) Sindhi (c) "aawt (d) fAat
—ANSWERS / 8*31'es® I
1.(a) 2.(a) 3.(c) 4.(b) 5.(d) 6.(a) 7.(a) 8.(d) 9.(d) 10.(c)
.  12.(a) 13.(0) 14.(5) 15.(c) 16.(d) 17.(d) 18.(c) 19.0)  20.(d)
A 2@ Bl 240 25.© 260 216 28 29.0) 30.0)
L) 3@ 33.() M@ 350 360 3G  3BEG  9.0) 00
41.() 42.(c) 43.(b) 44.(a) 45.(d) 46.(c) 47.(a) 48.(a) 49.(b) 50.(b)
L S2@ S S4B S5 6  ST@ S  H0.@  60.()
6L.()  62.(6) 63.(c) 64(a) 65  66(c) 61.(d) 68.(d)  69.c)  70.(8)
e 2.0 Bl MA@ @ 16D TG 8@ PO  80.()
81.(a) 82.(c) 83.(a) 84.(2) 85.(d) 86.(d) 87.(d) 88.(d) 89.(d) 90. (a)
91.(c) 92.(d) 93.(b) 94.(c) 95. (d) 96.(c) 97.(a) 98.(c) 99.(c) 100. (c)
WL@ 102.(0) 103.¢) 104.(c) 105.(@) 106.c) 107.()) 108.(}) 109.(@)  110.(c)
L@ 2@ 1@ 114@ 115@ 16k 17.(@ 118 119  120.(d)
RL@  122.) 123.0) 124.(0) 125.¢0) 126.(c) 127.() 128.() 129.()  130.(c)
BL@ 1320 133.¢) 134.@ 135.0) 136.(2) 137.()  138.(0) 139.()  140.(a)
141,(8) 142.(c) 143.(c) 144.(c) 145.(d) 146. (@) 147.(a) 148.(b) 149. (d) 150.(c)

e




